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1. Understanding the problem
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Devising a plan
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Looking back

Carrying out the plan
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* Find a word (written in standard capital letters)

that is unchanged when reflected in a
horizontal line and in a vertical line. The word

must appear in a dictionary (in a language of
your choice) in order to be a valid solution.

1. Understanding the problem
2. Devising a plan

3. Carrying out the plan

4. Looking back
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1. Understanding the problem

2. Devising a plan
3. Carrying out the plan
4. Looking back
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characterization
of all legal
inputs

and

characterization

of desired outputs
as a function

of inputs

Algorithmic problem
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input
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desired
output

Algorithmic solution
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* Find a word (written in standard capital letters)
that is unchanged when reflected in a
horizontal line and in a vertical line. The word
must appear in a dictionary (in a language of
your choice) in order to be a valid solution.
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£ (Program) i\ (Input)
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5 ML (Computer)

#i (Output)
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